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2.28.20

At 7he Botl. PSSA: Factor. X 2 — 16X + 64
2
-16x+64 = ( X - X)

Solve. Check.
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st 4
g 2 D
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Factoring

Number of Terms | How to Factor

2 Terms Difference of 2 Squares
x* - 25

3 terms Make a Table

x” +13x +30

4 terms Grouping

5x° - 6X° + 40X - 48
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Factoring (Difference of 2 Squares)

Factor completely. Check your solution.
1.16n° - 25 = HR@)(LM—S) Hon’L__ 0

=4 =5 lbn™25

3.25¢-4 = (5X+2(5x-2)

5.4n°-9 = (2!(] 49<?V) ~72)

7. 4x° - 100

(x*25)
L (x+9(X =5)
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Factoring (Grouping)

Factor completely Check your solution.

o ,@% Gl
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L&(%ZSG - 320 >< Zéq + 24)
(o %7(‘10\/5

5.(3003 - 60" 350+7>
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(50 1) (b0*-")
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Why Didn't Klutz do ANy

HW on Saturday?

&

How Did Snidely
Spellbinder Write a Four-
Letter Word that Begins

and Ends with "E"?
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OBJECTIVE 3-h: To simplify products of the form
(@ + b){a — b), to factor differences of squares.
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OBJECTIVE 3—s: To factor polynomials by grouping.
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Algebra 1 (Swanick) Name

8-7 Difference of 2 Squares HW Date Period
Factor each completely. Check your solution.

1) 4% -1 2) 9n* —4

3) 9% -1 4) 9x* -25

Look for a GCF first. Factor each completely. Check your solution.

5) 100x2 - 36 6) 3x% -3

Factor each completely.

7 pt-Tp 8) x* — 10x + 24

9) 6x* —24x— 126 10) 52 + 10m— 15
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Algebra 1 (Swanick) Name

8-8 Factoring by Grouping HW Date Period
Factor each completely.

1) 12&* — 15k* +28k— 35 2) 21p* —14p* —15p+ 10

3) 18x° — 15x% —48x+40 4) 32n* —24n* —12n+9

5) 3m® —2m* - 21m + 14 6) 5r° —6r* +40r —48

Factor each completely. Check your solutions!

7) a* +2a-24 8) 4n’ +20n + 16

9) n* -25 10) 95 —1
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